| Efficiency vs Dxy |

0.2
<

5 S
B N A S
< S O T
@.16:—----§------€ ------- R b et I
s R S S A S I S A
KT e S N RN SRS
© o : : : : : :
0.12 -ttt

0,04 -+rvvviennnd
0.02fvvevien

oL
0081
0,06 b

...........................

OJ--\-Q [y

Rati

0.95

—-25

| Efficien

cy vs Dz |

~20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

it

TT _Tetramn

It_TT_NEWdefault_specPLessl

it

EWdefault_specPLess2

EWdefault_specPLess3

T

N 0.1
o

—“NEWdefault“specPLess4

Y1l SRR R RN | e
&> F i ? ?
_é_?'08:_ """"" o A |
Q r : : .
.07 e R ERREES Breseeeees | ERRERIER CRERCEEREEE
o : : ;
O] s e R
0Jo):] SRR M| e S /| R
| TS SN S S
- : e 5
0.0 wveseeoe H+ e
0-022_ """"" """"" i w Hﬂ., B
ORISR SN | e A1 S —
OJ..LO:I 1 1 1 i 1 1 1 1 + 1 1 1 1 i 1 1 1 1 I 1 1 1 1 1 1 1 1
s
n i : :
1_— ---------- — --------- mb;mr B R REE TR
=20

~10 0 10

2030
TP dz (cm)




	Contents
	Page 1


